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( Introduction to Environmental Economics )
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The figures in the margin indicate jfull nmrkx
for the questions

1. Answer the following questions : | x7=7
(a) Define environmental eCconomics.
() What do you mean Dby rivalry?

4‘- (c) ls environment a pure public good?
ﬂ(d) What is free-rider problem?

(¢) What is the most mgmﬁvu{lt greenhouse 4 y
’ gas 1n (]1](11‘1tit£lli\-'c terms? Covrcbhban L..,l OY i1 &
-

¥

(f)- “Pollution is a negative externality. N
| Write whether the statement 1§ true m*ﬁtl" '
false.
(q) (yive one cxnmp_lu of environmental
3 ‘oblems lobal concern.
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